f ﬁ?;}f@r§4gﬁﬁﬁ%’ﬁJ
FLX , ,
%73 FM; g R 7 5 B % 3L
% — A — & _H —
1 13:00 5 '/:W’J‘ vz 1?’(‘% p]ﬁ] ) ;‘f_ﬁ’f—v #’TJ—— = Z‘ $fl’f—- éf e Ry
208 %

2 7:20 | =E2R] 1aE - A &é—%i&,(ﬁﬁim])

3 | 7:30 | 2®Y 1= - A B-% - K% fo- w(EH)

4 7:15 R Flo % g R-% 28 R-%fo- w02

5 6:50 E Y ] % ER X B B fo- F(GEA)

, frhfo- BT 2 Bofo- B RR-Y LR R R
. ¢ e

6 6:50 -y (v T R*)

7 6:35 ¢z e S Hh— ¢ ‘fr’ﬁfﬂ—f BrpL -2 v (P LB P)

8 | 645 | ¢wge | FFIIRGE-AAS :> “’j)ﬁ*?—“frﬁ* R R

g 6:30 EAEY ] AR - Rl B-$ AR #B - B-% fo- (2 289 S A % S

: 3 ¥R : oo s ER(3 ERP ) Z v
10 6'50 J}. 3 E;]d S Ii’)\'»z"—‘:J JI ﬁ)l'}" JI ﬁ)‘;_«{‘-‘—-_ ﬁ‘)"—z"_l - ﬁ;é'_‘fr: ﬁ)é'_l - ﬁ%,—’?\i" Qﬁ;%:frlﬁfﬁ(&
' - : i HE(E G EY) A g )
A5
11 6:40 ’ W RERZ-2#F F-L e - B HFRE-LHFP ¢ TRV B BhZ B ETREE
¢ R A A

. L e | Arb-? i -P L2 -V ERo LR (P LR Y )4 B - NP .
12 6:40 g (T EB ) ARG SRR

' L @Y (16502 # ®P -1700° & BB B EER-EC Bk ER g e e s
13 (1700 [ o R, RN SES § E S

Ve _ & 2 A - = & _H -
14 |15:55| wemy | FOF@ERDARERFER-EHZEFER-AE R
PR T )

. o B208% -4k & - - F AR -k AR N

15 | 7:10 | & =@ a‘?(%’c@l‘)

16 17:15| #» Lg @ b V(P LR P )R B “ﬂfrﬁé(ﬂ’@wﬁﬂa’;?fi%%&)

17 | 17:15| # Lg ¥ CEVERDERE S E S SR DG EL)

R B Ao B Ah-B-%-R(IEFY )T E—

18 | 6:00 | s - S B T S S I R
1 - B R(RBER)— - BB Y) P
MY N CIIDETE

19 6:30 NI o e N o b Blhia KRR T B
ey |mrw- B30 )k B K ATECRIEE 1) Wi R
KRFH | EZR-CEDR-E& M- BN R Er--- BROA

20 6:00 AP i ' PO RCGERFRE)-AGRGEARS Y )-L A BBk TR EE
BT F sk N ke A )

ALY p = ,i? 4‘%? ;’s‘r—l —1EFER-PAL S BRPAL- B- N -

21 6:00 | = R° % TER(ABRA Y - DR-EAREAEEF A Bhi D T TR
i Nk S ¥ Ansi)
sy b Bo-% - - Z a7 fa—io o

. /o b? P % Iy

2 |00 ) upse B (ffTheb) ¥ BB SR B0 F AR E) S RN )

_ RIEA T | ABR S ATE LA R atyw—u - Be-o TR e e
23| 6:30 | s P RS SR E
ABAe f i — B ~%§—2‘§&%—%’%§i&%«:¥2—%’#&%«— R - R N~ gn e s
: /o ,\‘?3 pap— ‘:,' %
24 6:35 s l,—&ﬁ;—ﬁ\p&iff‘—&ﬁ(ﬁgrééc‘~%r§'ﬁ£%) 59 LI N pS 3
FRTI— o
25 | 16:50 | Atz e B "jj(”%"” & Bk T TINER
A4 1 )-kp N B Ep -z B(Ek)-L -
26 |15:30 | Ampa (REf )t Lﬁii(w? = B (R T
F (SO
(%Fé'ﬁl)—%ﬂgﬁé—' MR- AB-AE-R-A L - K- .- 2= 7%
. H oz o3

27 |1 16:50 | AKF2 e 2. /> BLBL: AN 4R EA B

28 16:15 | AR+ % MEHE(EE )Y PR - BB

29 17:10 = ¢ % B)-¢ IRk




